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D =iv/(mn)
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I___
V___
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2.3.2
1
2
23.3PID
PID PID P4
PID
0
1
P4.0.13 | PID {l#a &t 2 0
3
4
PID % 1 000.0%-P4.0.15
P4.0.14 ) Tﬁe@% ’ 020.0
/PID PR 1 /000.0Hz-P4.0.15
PID % 2 P4.0.15-100.0%
P4.0.15 TR E ° 080.0

/PID PR 2

/P4.0.15-100Hz

PID
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F = Fo*[1-K(1-Do/D)]
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Fo---
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#3F i
3.1
INRERD AR SeE HE B HBR
0
1
PA.0.00 0
2
3
0
PA.0.01 0
1:
PA.0.02 0.01 300.00 1
0
1 VF1
2 VF2
3
4
PA.0.03 00
0
1 VF1
2 VF2
3
4
PA.0.04 0.00 50.00Hz
PA.0.05 0.00 0.00Hz
PA.0.06 _ 0
0 6500.0m/Min
PA.0.07
0
1 VF1
2 VF2
PA.0.08 0
3
4 PULSE
5 (1000H)
PA.0.09 0.1 6500.0m/Min 200.0m/Min
PA.0.10 0.1 6500.0m/Min R
PA.0.11 0.1 1000.0m/Min 20.0m/Min




IheeRD B Sek H A& B HBR
0
1
PA.0.12 1 VA 0
2 VF2
3
5 PULSE
PA.0.13 0.1 3000.0mm 500.0mm
PA.0.14 0.1 3000.0mm 100.0mm
0 PA.0.13
1: PA.0.16
2: PA.0.17
PA.0.15 3: PA.0.18 0
4 VF1
5 VF2
6
7
PA.0.16 1 6000.0mm 100.0mm
PA.0.17 1 6000.0mm 100.0mm
PA.0.18 1 6000.0mm 100.0mm
PA.0.19 1 6000.0mm 100.0mm
PA.0.20 0.0~100.0s 50.0s
PA.0.21 0: 1.0mm/s
0.1~100.0mm
0
PA.0.22 1 0
0
PA.0.23 1 0
2
PA.0.24
PA.0.25 0
0
1 VF1
2 VF2
PA.0.26 3 0
4 PULSE
5
PA.0.27 0 100.0% 0
PA.0.28 30000N 1000




TIRERD BR SEE B E S BR
PA.0.29 0 200.0% )
/
PA.0.30 0.0% 100.0% 50.0%
PA.0.31
PA.0.32 0.0-6500.0s 5.0s
PA.0.33 0.0-6500.0s 5.0s
0
1 VF1
PA.0.34 0
2 VF2
3
PA.0.35 0.0 100.0% 10.0%
0
PA.0.36 0
1
PA.0.37 1 10000mm 0
0
PA.0.38 0
1
0
AO 1 VF1
PA.0.39 0
2 VF2
3
PA.0.40 0.0~100.0% 100.0%
0
1 VF1
2 VF2
PA.0.41 3 30
N/2
1.5
PA.0.42 0.0 100.0 30.0%
PA.0.43 0 20.0% 0.0%
PA.0.44 0.0 100.0 0.0%
PA.0.45 0.0%~50.0% 0.0%




INREAD AFR Sels H{E BRI
0
1
PA.0.46 2 0
3
4
PA.0.47 -50.0 50.0 0.0%
PA.0.48 0.0~50.0% 0.0%
1(5%)
PA.0.49 0.0~50.0% 0.0%
2(20%)
PA.0.50 0.0~50.0% 0.0%
3(40%)
PA.0.51 0.0~50.0% 0.0%
4(60%)
PA.0.52 0.0~50.0% 0.0%
5(80%)
PA.0.53 0.0~50.0% 0.0%
6(100%)
PA.0.54 1 | 0.00~ 0.00Hz
PA.0.55 2 | 0.00~ 0.00Hz
PA.0.56 3 | 0.00~F AHME 0.00Hz
PA.0.57 4 | 0.00~Fx KHME 0.00Hz
PA.0.58 5 | 0.00~F AIMZE 0.00Hz
PA.0.59 6 | 0.00~F AIME 0.00Hz
PA.1.00 1 60000 1
PA.1.01 1 10000 1
PA.1.02 0 60000Kg/m"3 0Kg/m"3
PA.1.03 0 60000mm Omm
PA.1.04 0 1 0
PA.1.05 0 0.01 100.00mm 0.01lmm
PA.1.06 1 0.01 100.00mm 0.01lmm
PA.1.07 2 0.01 100.00mm 0.01mm
PA.1.08 3 0.01 100.00mm 0.01lmm
PA.1.09 0.01 100.00mm 1.00mm
PA.1.10 0~10000 0
PA.1.11 0.0~100.0% 100.0%




IhHERD B SeE HIE B HBR
PA.1.12 0.0~100.0% 100.0%
PA.1.13
0
PA.1.14 1 0
2
PA.1.15 0.0%-200.0% 0.00%
PA.1.16 0.0%-200.0% 0.00%
PA.1.17
0: A&
PA.1.18 L #E#Eﬁﬁi%\_ X 0
2. RIERFMNE (7]
RER)
PA.1.19 0.00-Fx A SR 50Hz
PA.1.20 0.1%-100.0%

10




INRERD AR Sels H{E BRI
P2.0.33 FM1 21
P2.0.34 Fm2 22
P2.0.35 FMP 23
e 24
0:
1
P4.0.13 | PID 2 0
3
4
PID 1 000.0%-P4.0.15
P4.0.14 020.0
/PID 1 /000.0Hz-P4.0.15
PID 2 P4.0.15-100.0%
P4.0.15 080.0
/PID 2 /P4.0.15-100.0Hz

11
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PA.0.00

w N - O

PID

PID

PA.0.01

| PA0.02 | 0.01 300.00
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0
1 VF1
2 VF2
3
4
PA.0.03 00
0
1 VF1
2 VF2
3
4
PA.0.04 0.00 50.00Hz
PA.0.05 0.00 0.00Hz
PA.0.06 0 6500.0m/Min 0
0
1 VF1
PA.0.08 2 VF2 0
o 3 EEBNRS
4 PULSE
5
PA.0.09 0.1 6500.0m/Min 200.0m/Min
PA.0.10 0.1 6500.0m/Min
PA.0.11 0.1 6500.0m/Min 20.0m/Min

13



0
1
PA.0.12 2 VH 0
3 VF2
4
5 PULSE
PA.0.13 0.1 3000.0mm 500.0mm
PA.0.14 0.1 3000.0mm 100.0mm
0
1 VF1
PA.0.15 2 VF2 0
3
4
PA.0.16 1 6000.0mm 100.0mm
PA.0.17 1 6000.0mm 100.0mm
PA.0.18 1 6000.0mm 100.0mm
PA.0.19 1 6000.0mm 100.0mm
PA.0.20 0.0~100.0s 50.0s
PA.0.21 0 1.0mm/s
0 1-10.0mm
0
PA.0.22 1 0
PA.0.23 0 0
1
PA.0.14 PA.0.16 PA.0.17 PA.0.18 DI
DI4 DI5 PA.0.14
Dl4 DI5
0 0 PA.0.14
0 1 PA.0.16
1 0 PA.0.17
1 1 PA.0.18
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0
1 VF1
2 VF2
PA.0.26 3 0
4 PULSE
5
PA.0.27 0 100.0% 0
PA.0.28 0 30000N 1000
PA.0.26 =5 A001H
=0 PA.0.27 561BH
0 200.0% =
PA.0.29 b (RAEE
H4R)
PA.0.30 / 0.0% 100.0% 50.0%
PID
PA.0.32 0.0-6500.0s 5.05
PA.0.33 0.0-6500.05 5.0

PA.0.26
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0
PA.0.34 1 VH 0
2 VF2
3
PA.0.35 0.0 100.0% 10.0%
PA.0.36 0 0
1
PA.0.37 1 10000mm 0
PA.0.38 0 0
1
PA.0.34 PA.0.35 PA.0.38
1 PID P4.0.01
PA.0.43 0 20.0% 0.0%
PA.0.44 0.0 100.0 0.0%
PA.0.45 0.0%~50.0% 0.0%
0
1
PA.0.46 2 0
3
4
PA.0.47 50.0 50.0 0.0%
PA.0.46
PA.1.00 1 60000 1
PA.1.01 1 10000 1
PA.1.02 0 60000Kg/m"3 0Kg/m"3
PA.1.03 0 60000mm Omm
PA.1.04 0 1 0
PA.1.05 0 0.01 100.00mm 0.01mm
PA.1.06 1 0.01 100.00mm 0.01mm
PA.1.07 2 0.01 100.00mm 0.01mm
PA.1.08 3 0.01 100.00mm 0.01mm
PA.1.09 0.01 100.00mm 1.00mm
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PA.1.10 0~10000 0
PA.1.11 0.0~100.0% 100.00%
PA.1.12 0.0~100.0% 100.00%
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P5.0.19=9
P0.0.14-P0.0.19

a P0.0.24=1
b P0.0.24 =2
P0.1.27 P0.1.28
P0.0.02 = 2 P9.0.29
1 PA.0.00=1
1
2
3
/
VF1 VF2
PLC
P9.0.27
4
2 PA.0.00=2

PID P4  PID

PID
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2019.7.1 V7.01
2020.5.6 V7.02
2020.12.9 V7.03

PA.0.41
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